

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	Rain Coat Yellow (Small)	100164	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			10.0000	5.62000	56.20	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	Rain Coat Yellow (Medium)	100165	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	30.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			30.0000	5.62000	168.60	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	Rain Coat Yellow (Large)	100166	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	40.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			40.0000	5.62000	224.80	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	Rain Coat Yellow (X-Large)	100167	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	50.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			50.0000	5.62000	281.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	Rain Coat Yellow (XX-Large)	100168	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	50.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			50.0000	5.93000	296.50	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	Rain Coat Yellow (4-X Large)	100169	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	30.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			30.0000	6.52000	195.60	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	Rain Coat Yellow (5-X Large)	100170	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			10.0000	6.80000	68.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	Hat Rain Yellow (Size 7 1/4)	100171	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	50.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			50.0000	10.00000	500.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	Rain Suit Yellow (Small)	100172	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			10.0000	6.82000	68.20	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	Rain Suit Yellow (Medium)	100174	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	30.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			30.0000	6.82000	204.60	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	Rain Suit Yellow (Large)	100175	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	40.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			40.0000	6.82000	272.80	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	Rain Suit Yellow (X-Large)	100176	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	40.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			40.0000	6.82000	272.80	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	Rain Suit Yellow (XX-Large)	100177	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	40.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			40.0000	7.10000	284.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	Rain Suit Yellow (XXX-Large)	100178	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	30.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			30.0000	7.40000	222.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	Rain Suit Yellow (4-X Large)	100179	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	20.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			20.0000	7.70000	154.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	Rain Suit Yellow (5-X Large)	100180	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			15.0000	8.29000	124.35	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	Rain Suit Yellow (6-X Large)	100181	201-65	Rainwear (Raincoats, Hats, Slicker Suits, Storm Suits, Umbre	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
964	1	Hagemeyer	Reid Ryan	2868			15.0000	8.58000	128.70	